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mowbajfAo  olBÓT 

 
tspólnó=słownik=zamówieńW== 4ROPPNOPJT=W=oobotó=budowlane=w=zakresie=dróg=podrzędnóch=

==

==

BranżaW== oobotó=drogowe=

oodzajW== fnwestorski=

= ==

BraltAW=

=
mrzebudowa=ulK=mark=mowstańców=tielkopolskich=w=mowidzu=

= SOJ4PM=mowidz==

=
==

= ==

fktbpTloW=

= dmina=mowidz=

= ulK=OV=drudnia=O4=

= SOJ4PM=mowidz=molska=

= ==

hlpwTloYpAkTW=

= mrzedmiar=sporządziłW=Andrzej=jadaj=

= ==

=
=
=
=
=
=

=

=

=

=

=

=

=
=
=

OU=września=OMNM=rK=

=

=
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Część=OK=lpis=technicznó=
mrzebudowa=ulK=mark=mowstańców=tielkopolskich=w=mowidzu=

ldÓikA CeAoAhTboYpTYhA olBÓT=

 =
==
dotóczóW=mrzebudowa=ulK=mark=mowstańców=tielkopolskich=w=mowidzu==

==
wakres=robót=obejmujeW=

- usunięcie=drzew=zagrażającóch=bezpieczeństwu=

- rozbiórkę=istniejącóch=krawężników=i=chodników=

- wókonanie=robót=ziemnóch=związanóch=z=poszerzeniem=jezdni=i=lokK=chodników=

- ułożenie=nowóch=krawężników=kamiennóch=

- ułożenie=nowóch=nawierzchni=chodników=z=klinkieru=i=kostki=granitowej=

- wókonanie=nowóch=nawierzchni=zjazdów=z=płót=kamiennóch=

- poszerzenie=jezdni=do=szerK=łącznej=RIMMm=i=wórównanie=i=wókonanie=nowej==

wJwó=bitumicznej=J=ścieralnejK=

- przebudowę=zieleńców=J=wómiana=roślin==

- robotó=towarzósząceK=

==
modstawowe=parametró=drogiW=

fnwestorW=dmina=mowidz=ulK=OV=drudnia=O4I=SOJ4PM=mowidzK=

Adres=budowóW=pmolniki=mowidzkieI=SOJ4PM=mowidzK=

kr=ewidencójnó=gruntówW=4PRI=44RI=4SSLNI=44MI=4PVI=NMNU=–=obręb=mowidzK==

aroga=wewnętrzna=Enie=jest=drogą=publicznąFK==

hod=CmsW=4ROPPNOPJTW=oobotó=budowlane=w=zakresie=dróg=podrzędnóchK=

aroga=wewnętrzna=J=przójęto=klasę=aK=

Długość=odcinka=–=NMPIVSm;=szerokość=jezdni=J=RIMMm;=szerokość=chodników=zmK=OIMMmK==
==
==
==
 =

rwagaI=proponowanó=rodzaj=i=odcień=klinkieru=należó=uzgodnić=z=wamawiającóm=przed=złożeniem=ofertóK=
t=projekcie=jako=wzorzec=przójęto=klinkier=Coe=J=barwó=czerwono=brązowej=EAmber=kI=holnI=Classic=lub=halahariFK=
aopuszcza=się=materiałó=wszóstkich=producentów=jeżeli=spełniają=wómagania=określone=w=specófikacji=technicznejK=

=

=

=

=

=

=

=

=

=
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=

=

Część=PK=mrzedmiar=
mrzebudowa=ulK=mark=mowstańców=tielkopolskich=w=mowidzu=

iKpK modstawa 
opisu 

ppecófikacja 
techniczna lpis L mrzedmiar flość gednK 

N    a J j J
MMKMMKMM  oobotó przógotowawcze  

NKN==

mozócja=
scalona=
Analiza=
własnaW=
hkko=MMMN=
MNNNJMNMM==

a=J=MNKMNKMN==

oobotó=pomiarowe=przó=robotach=ziemnóchI=dla=dróg=w=terenie=
równinnóm=
=
hrotnośćW=NIMM=

MINM= km==

NKO== hkko=MMMN=
MNMNJMOMM== aJMNKMOKMN==

jechaniczne=ścinanie=drzew=o=średnicó=NSJOR=cmI=z=karczowaniem=pni=
=
hrotnośćW=NIMM=
=
Długi=opisW=
rwzględnić=zasópanie=dołów=po=usunięciu=korzeni=J=materiałem=
przepuszczalnóm=J=żwirI=piasekK=

RIMM= sztK==

NKP== hkko=MMMN=
MNMNJM4MM== aJMNKMOKMN==

jechaniczne=ścinanie=drzew=o=średnicó=PSJ4R=cmI=z=karczowaniem=pni=
=
hrotnośćW=NIMM=
=
Długi=opisW=
rwzględnić=zasópanie=dołów=po=usunięciu=korzeni=J=materiałem=
przepuszczalnóm=J=żwirI=piasekK=

RIMM= sztK==

NK4== hkko=MMMN=
MNMTJMNMM== aJMNKMOKMN==

tówożenie=dłużócJN=mpI=transport=na=odległość=do=O=km=
=
Dłużóca=z=drzew=NSJORcm=
MIOMGR=Z=NIMM=
Dłużóca=z=drzew=PSJ4Rcm=
MIPMGR=Z=NIRM=
oazem=Z=OIRM=
=
hrotnośćW=NIMM=

OIRM= mp==

NKR== hkko=MMMN=
MNMTJMOMM== aJMNKMOKMN==

tówożenie=karpinóJN=mpI=transport=na=odległość=do=O=km=
=
harpina=z=drzew=NSJORcm=
MIMTGR=Z=MIPR=
harpina=z=drzew=PSJ4Rcm=
MIOUGR=Z=NI4M=
oazem=Z=NITR=
=
hrotnośćW=NIMM=

NITR= mp==

NKS== hkko=MMMN=
MNMTJMPMM== aJMNKMOKMN==

tówożenie=gałęziJN=mpItransport=na=odległość=do=O=km=
=
dałęzie=z=drzew=NSJORcm=
MINTGR=Z=MIUR=
dałęzie=z=drzew=PSJ4Rcm=
MITTGR=Z=PIUR=
oazem=Z=4ITM=
=
hrotnośćW=NIMM=

4ITM= mp==

NKT==

Analiza=
własnaW=
hkko=MMMN=
MNMOJMOMM==

aJMNKMOKMN==

Ręczne=i=mechaniczne=usunięcie=istniejącóch=roślin=
=
hrotnośćW=NIMM=
=
Długi=opisW=
tókopanie=krzewów=róż=i=drzewek=ozdobnóch=na=kwietnikachK=ooślinó=
do=dóspozócji=fnwestoraK=
=

ONOIMM= mO==
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O    a J j J
MMKMMKMM  oobotó rozbiórkowe  

OKN== hko=AqMP=
MNMTJMNMM== a=J=MNKMOKM4==

jechaniczna=rozbiórka=krawężników=betonowóch=NRxPM=cm=na=ławie=
betonowej=bez=względu=na=rodzaj=podsópki=J=z=wówozem=na=odległość=
do=O=km=
=
ptrK=prawa=przó=istnK=krawędzi=jezdni=
VIMMHVSIMM=Z=NMRIMM=
ptrK=lewa=J=przó=istK=krawędzi=jezdni=
NSIMMH4NIMMHRUIMM=Z=NNRIMM=
moprzecznó=w=km=NMPIVS=
NOIRM=Z=NOIRM=
ka=terenie=istnK=zieleńców=
NUIMMHNSIMM=Z=P4IMM=
oazem=Z=OSSIRM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
jateriał=z=rozbiórki=do=dóspozócji=fnwestora=J=liczóć=odwóz=na=odlK=do=
OkmK=

OSSIRM= m==

OKO== hkko=MMMS=
MUMRJMRMM== a=J=MNKMOKM4==

oozebranie=chodników=z=płót=betonowóch=o=wómiarach=PRxPRxR=cmI=na=
podsópce=piaskowej=
=
ptrK=prawa=
NRIMMHPOIMMHN4VIMM=Z=NVSIMM=
ptrK=lewa=
PPIMMHURIMMHNNUIMM=Z=OPSIMM=
oazem=Z=4POIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
jateriał=z=rozbiórki=do=dóspozócji=fnwestora=J=liczóć=odwóz=na=odlK=do=
OkmK=

4POIMM= mO==

OKP== hkko=MMMS=
MUMOJM4MM== a=J=MNKMOKM4==

jechaniczne=rozebranie=nawierzchni=z=mas=mineralno=bitumicznóch=o=
grubości=4=cm=
=
oozebranie=nawierzchni=na=zjazdach=
N4IMMHNOIMMHNUIMM=Z=44IMM=
oazem=Z=44IMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
jateriał=z=rozbiórki=do=dóspozócji=fnwestora=J=liczóć=odwóz=na=odlK=do=
OkmK=

44IMM= mO==

OK4== hkko=MMMS=
MUMNJMNMM==

a=J=MNKMOKM4==

Ręczne=rozebranie=podbudowó=z=kruszówa=o=grubości=NR=cm=
=
oozebranie=nawierzchni=na=zjazdach=
N4IMMHNOIMMHNUIMM=Z=44IMM=
oazem=Z=44IMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
jateriał=z=rozbiórki=do=dóspozócji=fnwestora=J=liczóć=odwóz=na=odlK=do=
OkmK=

44IMM= mO==

OKR== hkko=MMMS=
MUMSJMTMM==

a=J=MNKMOKM4==

oozebranie=obrzeżó=trawnikowóch=o=wómiarach=SxOM=cmIna=podsópce=
piaskowej=
=
POIMMH4MIMMHTIMMHUIMMHNOIMMHNRIMMHTIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
jateriał=z=rozbiórki=do=dóspozócji=fnwestora=J=liczóć=odwóz=na=odlK=do=
OkmK=
=

NONIMM= m==
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P    a J j J
MMKMMKMM  oobotó ziemne  

PKN== hkko=MMMN=
MOMOJMRMM==

a=J=MOKMMKMN=a=
J=MOKMNKMN==

aokop=i=dowóz=materiału=na=nasópó=
=
ROGMIT=
=
hrotnośćW=NIMM=
=
Długi=opisW=
jiejsce=dokopu=wg=tókonawcóK=jateriał=przepuszczalnó=tm>PRK=

PSI4M= mP==

PKO== hkko=MMMN=
MPNNJMNMM==

a=J=MOKMMKMNI===

Ręczne=formowanie=nasópów=z=dostarczeniem=ziemi=samochodami=
samowóładowczómiI=gruntó=kategorii=fI=ff=
=
ROGMIT=
=
hrotnośćW=NIMM=

PSI4M= mP==

4    a J j J
MMKMMKMM  hrawężniki  

4KN== hko=MOPN=
M4MOJM4MM== a=J=MUKMNKMOa==

Ławó=pod=krawężniki=z=betonu=z=oporem=
=
EOMRIPMHOSIMMFGMIMS=
=
hrotnośćW=NIMM=

NPIUU= mP==

4KO== hkko=MMMS=
M4MOJM4MM== a=J=MUKMNKMOa==

hrawężniki=kamienne=bez=ławI=wóstające=o=wómiarach=NRxPM=cmI=na=
podsópce=cementowo=piaskowej=
=
ptrK=prawa=
PIMMHVMIOM=Z=VPIOM=
ptrK=lewa=
U4IMMH4I4RHNNIOM=Z=VVISR=
moprzecznó=w=km=NMPIVS=
NOI4R=Z=NOI4R=
oazem=Z=OMRIPM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
hrawężniki=na=odcinkach=prostóchW=wóstająceI=wtopione=na=zjazdach=i=
skośne=Eskos=po=Om=z=każdej=stronó=zjazduFK=mowierzchnia=widoczna=J=
płomieniowanaK=

OMRIPM= m==

4KP== hkko=MMMS=
M4MOJM4MM== a=J=MUKMNKMOa==

hrawężniki=kamienne=Łrhltb=bez=ławI=wóstające=o=wómiarach=NRxPM=
cmI=na=podsópce=cementowo=piaskowej=
=
hrawężnik=łukowó=oJS=
NMIMM=Z=NMIMM=
hrawężnik=łukowó=oJ4=
SIMM=Z=SIMM=
hrawężnik=łukowó=oJP=
RIMMHRIMM=Z=NMIMM=
oazem=Z=OSIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
hrawężniki=cięte=wg=o=na=odcinkach=łukowóchK=długości=zaokrąglono=w=
górę=do=pełnego=mK=mowierzchnia=widoczna=J=płomieniowanaK=
=

OSIMM= m==

R    a J j J
MMKMMKMM  Chodniki  
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RKN==
hkko=MMMS=
MNMSJMOMM==

a=J=MRKMPKMO=
=
==

Ręczne=zagęszczanie=piaskiem=warstw=odcinającóchI=grubość=warstwó=
po=zagęszczeniu=NM=cm=
=
Chodnik=str=prawa=Emiędzó=zjazdamiF=
Chodnik=strK=lewa=
OTIOM=Z=OTIOM=
URIOM=Z=URIOM=
N4OIRM=Z=N4OIRM=
tejście=z=zakolami=dla=ławek=i=rowerów=
OOIPMHNOISMHNOISM=Z=4TIRM=
oazem=Z=PMOI4M=
=
hrotnośćW=NIMM=
=
Długi=opisW=
rzupełnienie=istnK=konstrukcji=pod=chodnikiK=
=

PMOI4M= mO==

RKO==
hkko=MMMS=
MRMNJMPMM==

a=J=MRKMPKMO=
=
==

Chodniki=z=klinkieru=drogowego=OMMGNMMG4R=mm=ułożonego=na=płaskI=
na=podsópce=cementowo=piaskowej=spoinó=wópełniane=zaprawą=
cementową=
=
Chodnik=str=prawa=Emiędzó=zjazdamiF=
OTINM=Z=OTINM=
NNRIRM=Z=NNRIRM=
Chodnik=strK=lewa=
OTIOM=Z=OTIOM=
URIOM=Z=URIOM=
N4OIRM=Z=N4OIRM=
tejście=z=zakolami=dla=ławek=i=rowerów=
OOIPMHNOISMHNOISM=Z=4TIRM=
mrzełożenie=istnK=pochólni=
VIPM=Z=VIPM=
oazem=Z=4R4IPM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
drubość=podsópki=cementowo=piaskowej=ENWRF=wónosi=Tcm=H=podsópka=
N=cm=miał=kamiennóK=puma=UcmK=
=

4R4IPM= mO==

RKP==
hko=MOPN=
MPMOJM4MM== a=J=MUKMOKMT==

kawierzchnie=z=kostki=nieregularnej=4LScm=na=podsópce=cementowo=J=
piaskowej=ENWRF=grK=UcmK=
=
ptrK=prawa=
4IVMHORISMHTIRM=Z=PUIMM=
ptrK=lewa=
NSIVMHUI4MHOSIMMHNIUMHNIUM=Z=R4IVM=
jinus=kostka=VLNN=J=obramowanie=?wósp=zieleni?=
JNMISGMINJVI4GMINJVI4GMINJVI4GMINJUIMMGMINJTINGMINJPIRGMIN=Z=JRIT4=
oazem=Z=UTINS=
=
hrotnośćW=NIMM=
=
Długi=opisW=
hostka=granitowa=4LScm=
=

UTINS= mO==

RK4==
hko=MOPN=
M4MSJMUMM== a=J=MUKMOKMT==

lbramowanie=jezdni=lub=chodników=z=kostki=kamiennej=nieregularnej=o=
wósokości=NM=cm=na=ławie=betonowej=C=NOLNR=
=
TIUMHSI4MHOIMMHMIUMHMIUMHNI4MHEO4IMMGMIOHNMIMMGMIOFHENMISGMIN
HVI4GMINHVI4GMINHVI4GMINHUIMMGMINHTINGMINHPIRGMINFHNIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
rwzględniono=obramowanie=chodnika=strK=lewa=w=km=MHMMM=J=
MHM4MIMM=oraz=?wósp=dla=zieleni?=Beton=MIM4RmPLmb=Z=EMIOPmPLmOF=
=
=
=

POIT4= mO==
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S    a J j J
MMKMMKMM  wjazdó  

SKN== hkko=MMMS=
MNMVJMOMM== a=J=M4KMSKMN==

modbudowó=betonoweI=pielęgnacja=podbudowó=piaskiem=i=wodąI=
grubość=warstwó=po=zagęszczeniu=NR=cm=
=
hrotnośćW=NIMM=
=
Długi=opisW=
Beton=C=NOLNR=

4OIMM= mO==

SKO== hkhoB=MMMS=
MRMOJMTMM== a=J=MUKMOKMP===

kawierzchnie=zjazdów=z=płót=kamiennóch=grubości=U=cm=na=podsópce=
piaskowej=z=wópełnieniem=spoin=piaskiemK=
=
NVIVHNNINHNNIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
Płótó=granitowe=płomieniowane=OMG4Mcm=lub=inne=zaakceptowane=
przez=fnwestora=

4OIMM= mO==

T    a J j J
MMKMMKMM  mrzebudowa jezdni  

TKN== hko=AqMP=
MNMNJMNMM== a=J=MNKMOKM4==

oobotó=remontowe=J=cięcie=piłą=nawierzchni=bitumicznóch=na=głębokość=
do=R=cm=
=
NOIMMHRIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
Włączenie=J=skrzóżowania=

NTIMM= m==

TKO== hko=AqMP=
MNMOJMNMM== a=J=MNKMOKM4==

oobotó=remontowe=J=frezowanie=nawierzchni=bitumicznej=o=grubości=do=
4=cm=z=wówozem=materiału=z=rozbiórki=na=odległość=do=N=km=
=
TINTLMIM4=
=
hrotnośćW=NIMM=
=
Długi=opisW=
Średnia=grubość=4=cm=

NTVIOR= mO==

TKP== hkko=MMMS=
MNMOJMPMM== a=J=M4KMNKMN==

horóta=o=głębokości=4M=cmI=wókonówane=na=poszerzeniach=jezdni=lub=
chodników=w=gruntach=kategorii=ff=do=fs=
=
PNIMMHPSIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
w=odwozem=gruntu=na=odlK=do=O=km=

STIMM= mO==

TK4== hkko=MMMS=
MNMPJMNMM== a=J=M4KMNKMN==

mrofilowanie=i=zagęszczanie=podłoża=pod=warstwó=konstrukcójne=
nawierzchniI=wókonówane=ręcznieI=w=gruntach=kategorii=ff=do=fs=
=
hrotnośćW=NIMM=

STIMM= mO==

TKR== hkko=MMMS=
MNM4JMOMM== a=J=M4KM4KMM==

tókonanie=warstwó=odsączającejI=grubość=warstwó=po=zagęszczeniu=OM=
cmI=przó=użóciu=walca=wibracójnego=
=
PNIMMHPSIMM=
=
hrotnośćW=NIMM=

STIMM= mO==

TKS== hkko=MMMS=
MNNPJMOMM== a=J=M4KM4KMM==

modbudowa=z=kruszówa=łamanegoI=grubość=warstwó=po=zagęszczeniu=
OM=cm=
=
PNIMMHPSIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
MLPNIR=cm=

STIMM= mO==
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TKT== hko=AqMP=
MOMOJMOMM==

a=J=MRKMPKMRI=
a=J=M4KMPKMN==

jechaniczne=oczószczenie=i=skropienie=podbudowó=lub=nawierzchni=
betonowejLbitumicznej=emulsją=asfaltową=na=zimnoI=zużócie=emulsji=MIR=
kgLmO=
=
hrotnośćW=NIMM=
=
Długi=opisW=
pkropienie=podbudowó=z=kruszówaK=

STIMM= mO==

TKU== hkko=MMMS=
MPMUJMOMN== a=J=MRKMPKMR==

kawierzchnie=z=mieszanek=mineralno=asfaltowóch=standard=fI=warstwa=
wiążącaI=grubość=warstwó=po=zagęszczeniu=R=cmK=transport=mieszanki=
samochodem=samowóładKRJNM=t=
=
PNIMMHPSIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
ka=poszerzeniu=BAJMLNOIU=

STIMM= mO==

TKV== hkko=MMMS=
MNMUJMOMM== a=J=MRKMPKMR==

jechaniczne=wórównówanie=istniejącej=podbudowó=mieszanką=
mineralno=asfaltowąI=standard=ffI=transport=mieszanki=samochodem=
samowóładowczóm=RJNM=t=na=odlegKR=km=
=
PIVVGOIR=
=
hrotnośćW=NIMM=
=
Długi=opisW=
BA=J=MLU=

VIVU= t==

TKNM==hko=AqMP=
MOMOJMOMM==

a=J=MRKMPKMRI=
a=J=M4KMPKMN==

jechaniczne=oczószczenie=i=skropienie=podbudowó=lub=nawierzchni=
betonowejLbitumicznej=emulsją=asfaltową=na=zimnoI=zużócie=emulsji=MIP=
kgLmO=
=
hrotnośćW=NIMM=
=
Długi=opisW=
pkropienie=istniejącej=nawierzchni=po=frezowaniu=i=wókonanego=
poszerzenia=jezdniK=

SPNIMM= mO==

TKNN==hkko=MMMS=
MPMVJMOMN== a=J=MRKMPKMR==

kawierzchnie=betonu=asfaltowego=hoJNJOI=warstwa=ścieralnaI=grubK=
warstwó=po=zagęszczeniu=4=cmKtransport=mieszanki=samochodem=
samowóładKRJNM=t=
=
hrotnośćW=NIMM=
=
Długi=opisW=
BA=J=MLNOIU=

SPNIMM= mO==

U    a J j J
MMKMMKMM  wieleń  

UKN==
hko=MVMT=
MNMRJMNMM== a=J=MVKMNKMN==

Ułożenie=geotkaninó=pod=elementó=zieleni=
=
UUIMMHSMIMMHOSIMM=
=
hrotnośćW=NIMM=

NT4IMM= mO==
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UKO==

mozócja=
scalona=
Analiza=
własna==

a=J=MVKMNKMN==

padzenie=drzew=i=krzewów=liściastóch=form=piennóch=na=terenie=płaskim=
w=gruncie=katK=fff=bez=zaprawó=dołów=o=średnicó=i=głębokości=MIP=m=
=
hrotnośćW=NIMM=
=
Długi=opisW=
NK=Bukszpan=wieczniezielonó=LBuxus=sempervirensL=?puffruticosa?I=C=O=
wósK=OMJPMcmI=formowanó=geometrócznie=na=wósK=4MJRMcm=J=
P4MsztKLNsztKLMIOMmbL==
OK=Bukszpan=wieczniezielonó=LBuxus=sempervirensL=?ootundifolia?I=C=R=
wósK=RMJSMcmI=formowane=kuleK=
PK=męcherznica=kalinolistna=Lmhósocarpus=opulifoliusL=?iuteus?I=C=RI=wósK=
RMJSMcmI=nieformowanó=J=4MsztKLNsztKLMIRMmbL==
4K=gałowiec=płożącó=Lguniperus=horizontalisL=?tiltonii?I=C=NMI=szczepionó=
na=pniu=J=OsztK=
RK=frga=poziomaLCotoneaster=horizontalisL=I=C=PI=wósK=OMJPMcm=J=
OMsztKLOsztKLNm?L=x==
SK=frga=aammera=LCotoneaster=dammeriL=?jajor?I=C=P=J=
PMsztKLOsztKLNm?L==
TK=gałowiec=pospolitó=Lguniperus=communisL=?dold=Cone?I=C=RI=wósK=4MJ
RMcm=J=4sztK=UK=gałowiec=łuskowó=Lguniperus=squamataL=?cloreant?I=C=PI=
wósK=NMJOMcm=J=4sztK==
VK=tinobluszcz=pięciolistkowó=L=marthenocissus=tricuspidata=L=?seitchii?I=
C=PI=J=PsztK=NMK=Buk=pospolitó=Lcagus=sólvaticaL=?murple=countain?I=C=NMI=
ma=OOMJO4Mcm=J=Oszt==

NIMM= sztK==

UKP==

mozócja=
scalona=
Analiza=
własnaW==

a=J=MVKMNKMN==

kawierzchnia=z=otoczaków=płukanóch=NJOcmI=kruszówo=rozścielane=
ręcznieI=grubość=warstwó=po=zagęszczeniu=R=cm=
=
UUIMMHSMIMMHOSIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
hruszówo=płukane=układane=na=geotkaninie;=terenó=zieleniK=

NT4IMM= mO==

9    a J j J
MMKMMKMM  oobotó towarzószące i wókończeniowe  

VKN== Analiza=
własnaW== a=J=MPKMOKMN==

ptudzienki=ściekowe=uliczneI=betonowe=o=średnicó=RMM=mmI=z=
osadnikiem=bez=sófonu=
=
hrotnośćW=NIMM=
=
Długi=opisW=
hm=MHMSVKUR=strK=lewaK=rwzględnić=wszelkie=robotó=i=materiałó=
związane=z=rozbiórką=istniejącej=studni=ściekowej=i=ustawieniem=nowejK=
ldległość=przesunięcia=NIMMmK=Eprzókanalik=NIMMmF=

NIMM= kpl==

VKO==

mozócja=
scalona=
Analiza=
własnaW==

a=J=j=J
MMKMMKMM==

mrzestawienie=hódrantu=pożarowego=naziemnego=o=średnicó=NMM=mm=
=
hrotnośćW=NIMM=
=
Długi=opisW=
mrzestawienie=hódrantu=na=odlK=do=PIPMm=

NIMM= kpl==

VKP==
hkko=MMMS=
NPMRJMNMM==

a=J=j=J
MMKMMKMM==

oegulacja=pionowa=studzienek=dla=urządzeń=podziemnóchI=objętość=
betonu=w=jednóm=miejscu=do=MIN=mP=
=
NOGMIN=
=
hrotnośćW=NIMM=
=
Długi=opisW=
NO=elementów=

NIOM= mP==

VK4== hko=MRMN=
MRMRJM4MM==

a=J=j=J
MMKMMKMM==

tómiana=ram=SMMxNMMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
ptudnie=telekomunikacójne=

4IMM= sztK==
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VKR== hko=MRMN=
MRMRJMOMM==

a=J=j=J
MMKMMKMM==

tómiana=pokrów=SMMxNMMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
ptudnie=telekomunikacójne=

4IMM= sztK==

VKS== hkko=MMMS=
M4MPJMPMM==

a=J=j=J
MMKMMKMM==

hrawężniki=betonowe=wóstające=o=wómiarach=NRxPM=cmI=wraz=z=
wókonaniem=ław=betonowóchI=na=podsópce=cementowo=piaskowej=
=
hrotnośćW=NIMM=
=
Długi=opisW=
fstnK=krawężniki=do=podniesienia=Ewjazd=molicjaF=

NMIMM= m==

VKT== hkko=MMMS=
MNMVJMOMM== a=J=M4KMSKMN==

modbudowó=betonoweI=pielęgnacja=podbudowó=piaskiem=i=wodąI=
grubość=warstwó=po=zagęszczeniu=NR=cm=
=
hrotnośćW=NIMM=
=
Długi=opisW=
Beton=C=NOLNRK=mod=przekładaną=kostkę=brukowąK=

OPIRM= mO==

VKU== hkko=MMMS=
MRMOJMPMM==

a=J=j=J
MMKMMKMM==

mrzełożenie=istniejącej=nawierzchni=z=kostki=brukowej=betonowej=
grubości=U=cmI==układane=na=podsópce=cementowo=piaskowej=spoinó=
wópełniane=piaskiem=
=
4ITMGRIMM=
=
hrotnośćW=NIMM=
=
Długi=opisW=
mrzełożenie=istniejącej=nawierzchni=zjazdu=

OPIRM= mO==

VKV==

mozócja=
scalona=hko=
MOON=MSMTJ
MOMM==

a=J=j=J
MMKMMKMM==

Ławki=parkowe=żeliwne=z=obudową=drewniana=siedzeniową=
=
hrotnośćW=NIMM=
=
Długi=opisW=
Ławki=żeliwno=drewniane=o=wóm=MIRGNIUM=EOIMMF=holor=drewna=
dopasowanó=do=odcienia=klinkieruK=Żeliwo=J=kolor=czarnóK=

4IMM= m==

VKNM==

mozócja=
scalona=
Analiza=
własnaW=
hkko=MMMV=
NMMNJMOMM==

a=J=j=J
MMKMMKMM==

tómiana=słupów=oświetleniowóch=stalowóch=o=masie=do=PMM=kg=
=
hrotnośćW=NIMM=

OIMM= słup==

=

=

=

=
= =


